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Theoretical Perspectives on Marriage


There are three main theories in sociology: The Structure Functionalism theory, The Symbolic Interactivism theory, and The Conflict theory.  The Structure Functionalism theory is a macro-theory that shows how society is set up in different functions and how each structure has its own function.  The Symbolic Interactivism is a micro-theory that shows how people use symbols in their everyday life to interact with one another.   The Conflict theory is also a macro-theory that states that the people in society with power and money want to keep those without power and money without power and money.  Each theory can relate to one of the following questions differently: What do people think about marriage?  How does marriage benefit women and men unequally?  Where are the consequences of marriage for the operation of society?

I think The Symbolic Interactivism theory goes with the question, “What do people think marriage means?”.   I feel this way because what people think about marriage is based on what they see in their own marriage and in other people’s marriage.  If a regular person is walking down the street and sees a married couple out and they are having a great time together and enjoying being in each other’s company, they will more than likely think marriage is a good thing.  It also works the other way around if they are not enjoying being in each other’s company the person will not think as high on marriage.  He will be using the symbols around him to come to this conclusion.

I feel The Symbolic Functionalism theory goes with the question, “How does marriage benefit both men and women unequally?”.  I chose this theory because both men and women have to contribute to a marriage for it to work.  Therefore men and women act as two different structures that work together for one function, a marriage.  This benefits them both unequally because you get several situations where someone may not be as happy with their spouse as the other and therefore put more effort into making their marriage work than the other.  This could be considered unequal if one tries harder and gets more out of the marriage the other.


The last theory, The Conflict theory, I have feel goes with the question, “What are the consequences of marriage for the operation of society?”.  I feel this is the best theory for this question because once a person gets married people tend to stay in the same position, such as at work, but if they are single they will want to work harder to better their life and gain more power.  This is an example of The Conflict theory because the consequence of being married, a person may not work as hard to improve their life and gain more power at work or in the home and get pay raises to gain more money.


In conclusion I feel this is how each sociological theory relates to the given questions about marriage.  The Symbolic Interactivism theory relates to the question, “What do people think marriage means?”.  How The Structural Functionalism theory relates to the question, “How does marriage benefit women and men unequally?”, and how The Conflict theory relates to the question, “What are the consequences of marriage for the operation of society?”.
